Summative Assessment — 1

Class - 8t
Time:3 Hrs. Subject : Social Science M.M. 40
ArATer fordw :—  (General Instructions)
1. Jft user aferErf 21 All questions are compulsory.

2. u&e uvr @ weft ser wes Arer @y
Attempt all parts of questions together

3. Waft uwt & ais WS RE sw B

4. Marks are shown against each questions.

- (Part-A)
uver 1. W& Reea gorn- Gx10=5)

U ufhaAr Y @=IT BEd & SAA 3t A 3ffres oor o8 wd BT
F SIHT IFT T B

@) fFRrasdtaor 1) sMenoftaor
(1) etEdamROT (5.) sadH A PHIg a8t
Name the process in which majority of the people start residing in cities and
town.
(a)Counter urbanization b) Industrialization
(c) Urbanization d) None of these
(i) <reht creafiars a8 s1eg »a gs 2
(@) 3WT1852 1) 30T 1858
(1) TIeT 1858 (8.) S5 1857
When did Rani Laxmi bai die?
(a)April, 1857 b) April,1958
(c) June,1858 d) June,1857
(i) YzaaEy =azer wr fpAa wEL e ?
(@) SrHA A &) S Fearer
(1) fafags aRa (8.) amfsee
Who introduced “Ryotwari” system?
(a)Thomos Moonro b) Tipu Sultan
(c) William Moris d) Aryabhatta
(iii) g2 Sfear wmaush & useht Baed T g g 2
(@) 1671 =) 1651
@n) 1652 ®) 1751
When the first factory of East India company started?
(a)1671 b) 1651
(c) 1652 d) 1751
(iv) ema o1 wdfer soamersr wal Rea & 2
@) Rrae 1) feoeht
(r) HFaE ®) gor
Where is the supreme court of India ?
(a)Shimla b) Delhi
(c) Mumbai d) Pune
(V) e o =eg & aifarfergsr arer gam 2
(@) 2004 1) 2005

(@r) 2001 (®.) 2008
In which year,Domestic violence Act was passed?
(a)2004 b) 2005
(c) 2001 d) 2008

(Vi) arrecfer 2 B
(®) T I ) Braeeter
(1) Fraee= (8.) 9= FeaT
Indian parliament is
(a) Single House b) Three Houses
(c) Two Houses d) Four Houses

(Vi) wedt & yss ue @releR Uil @ 3MERUT @B udell udd Bl @I whaEd
a?

(®) dcersT (&) a1 JFeuar

(a1) B (&.) a1

The thin layer of graining substance covering the surface of the
earth is called

(a) Rock b) Forest wealth
(c) Cool d) Soil
(Viil) ferger & A Prar AT WelleT e JifersT B 2
(@) cits 3r=h () Foreitor
(e1) BrATSC (&) IuAa Jaft
Which is the Iron mineral among the following -
(a)iron ore b) Magnese
(c) Cromite d) All of these

(IX) foreer & A et =1 Aerg fafdfa dzmerer & 2
(B) PIAT ITaR B Nwell (&) RS B oA

(1) =T (&) Iwrpiedeha ae
Which is the man made resource among the following
(a)Cancer Medicine b) Spring
(c) Unit d) Tropical Forest
uvel 2. fHersr @e:- 2
(i) s1fer su=irer 1. el
(i) ezfor su=iver 2. eferzler Io
(iii) et wes 3. 9RA BT USAT el Sieled
(iv)amer eror 4. offH @I IUTESTHT IUATT
Match the following:-
(iy Land use Karnatka
(i) Gold producing state Secular State
(iii) Indiais 18t Governer General of India
(iv) Warren Hestings Productive use of land
Ul 3. JEIFEd Bifeu:— (%x6=3)

(i) ProErd weEr 0 wieR vd husil 3 dditia 8 g wreel o 3razre
HAISAT ST 2

(ii) <regufy wrs==rem & 10 Jex Helferd waT B

(i) geeht & oref I Forepetar aret Hoif B AT Holl Bel oEr 2|

(IV)fSter a=gail @1 3u=ier & 3rUell 3MAhaT &1 gid P T Ba & Iea
FATETS HEdT B

(V) Sior ToHer =roficis @1 asrefumsil wad refaiaes amldfieres |

(vi)orieh oft & =ureer T Sged 1917 & B

(i) Criminal Law is related to such behavior and activities which is considered
crime by law.

(i) President nominates ten members in Rajya Sabha.

(iii) The energy coming out of the earth’s core is called tidal energy.

(iv) Things we utilize to fulfill our needs are called resources.

(v) James Mill was an economist and political philosopher of Newzealand

(vi) Gandhi Ji led the Champaran movement in 1917.

a4, R zamer arRi- (%x10=5)
(i) S T & 'u Bl 3T ey SR sdes’ Reara ..o il
fash off
(i) dorer gz 3PS @ A oo W ST F A ES |

(iii) srerdt srary & anRaz F BRer 3 sfier & HOT ..
P BIROT dgal oIl |

(iv) sidsit o snfearfr=ii v . & Hu F afdfa fear

(V) Ri@z 1946 A aa@saz 1949 & & oo a
e HiRa & fow Afdare @1 uiwy G e

(1) Afensr Ferersr grr Afrers @ uzaT@en 7
gat  orUsr ersg sifea fpam orim)

(Vi) o Jom @ rETETAT....oovoeei BT B

(Viil) geft we FaTerall @r RAGROT 2

(IX) wep emeciter =oiRes ufdfesr afiasr SOTIBT ..o
feT SIeT BT u=ierT wHRar & |

(X) vfermar @r sref AsT B

(i) James Mill had written a book titled ‘A History of British India’ in.............

(ii) Victory of British over Bangal started with the battle of ................

(iii) In the end of 18" country, demand of indigo started to increase
dueto .........

(iv) Britishers described tribal's as ...........

(V) e prepared the draft of constitution between Dec. 1946
to Nov, 1949

(vi) The word ‘Secular was added in the preamble of the constitution
by.......... amendment.

(vii) Lok Sabha is presided by ...........

(viii) Distribution of resources on the earth is .........

(ix) An average Indian citizen consumes approximately............ litre
water
(x) Meaning of petroleum is .............. oil.

A3 (Parts-B)

uv 5. IMfergsT uve

(1x3=3)

(1) #eer " war oiar 2
(i) s siftrepe ¥ 3T @=T JHATA BT P
(iiii) 31737 =reNefiepzor & eI T bR AT |

(i) What is Mahal?
(i) What do you understand by fundamental Rights?
(iii) Give any two reasons of land renewal?
Ul 6. oigSaaT U & (2x5=10)
(i) sPrdfer wegelii oA &) 3l @i amsfa & & ot ?
(i) Br&rer emwer I HHAG BIIEHRT B AT Bia AT JHRT 3 BT ot |
(iiii) szreratferest w1 Tades g Wil o B
(iV)zrefisit & <izeror @t =i o9 1
(V) Rremeres @Yer Erar 1 SABT gerrd BA BT B

(i) Why were European companies attracting towards India?

(i) What problems were being faced by Switching cultivators in British rule.
(iii) Who is M.L.A. ? How is he/she elected?

(iv) Why ‘Independent Judiciary’ is mandatory?

(v) Why the conservation of minerals is necessary ?

ammor—ar (Parts-C)
Ul 6. dIf IavcHs U & (2x4=28)
(i) =ro=r Sam derm Sls |AT F IR [ B |

Differentiate between Rajyasabha and Loksabha.

3terar
ARAT Afdensr @ Fgz=r QWA w1 gular w2 |

Describe the main characteristics of the constitution of India.

(i) 1857 & fagis & @Rl @1 avfe & |

What do you understand the cause of the revolt of 1857.
37erar

TS sreaet @t e &fa Y 3g @R Jeea 9
What do you understand by Doctrine of Lapse.

U 7. HERS a7%— (%x4:2)
(i) oea & seREr & 7 TiE-
() arsRIa @) 3RIT AR
(o1) TTasT IWIGH ST (.) sRarom
Show the following on the map of India —
a) Gujarat b) Arabian sea
c¢) Rice producing states d) Hariyana
(i) Rrm & == 3 = K- Gx4=2)
() Socis @) aggrer
(1) IRra FHsTET (.) weTST

Show the following on the map of the world —

a) England b) Bhutan  c¢) European continent d) Canada
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